Efficiency bounds for missing data models
with semiparametric restrictions, supplemental material: details of
calculations

This supplemental Appendix provides details of some of the more tedious calculations used to prove Theorem 3.1
of the paper “Efficiency bounds for missing data models with semiparametric restrictions,” by Bryan S. Graham.

G Details of calculations used in proof of Theorem 3.1
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This, and similar calculations, give the penultimate expression for Ifn (Bo) given in the proof.
The task is now to use the expression for M and V given in the proof to evaluate 7t (Bo) - We begin by evaluating
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We also have

Hy
(L ®Ix) My = —(Ixg - Ig ) :
KxM
Hy
= —Z(Tuvhqz’l TiMthiM)
i=1

(o)) - [ me] )

and similarly

I M
(LL ®I£K)I/M25 = —( Ig - Ig )/ :_ZZTimvé%m
X =1

@
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The result then follows directly.



